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6, Give the definition and explain the use of a PID controller.
15%

7. If a servo system can be modeled as an integrator with unity feedback, discuss the
frequency transfer behavior of closed-loop system through Bode plot,
15%

8. A feedback control system shown in the following figure is to be designed to
satisfy the following specifications: '

1} Steady-state error for a ramp input is less than 35% of input slope

2y Damping ratio of dominant roots is greater than 0.707

1) Settling time to within 2% of the final value i3 less than 3 seconds
Find appropriate amplifier gain K, and derivative feedback gain K,.
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